Model

DN BED 366 741 - 2DW - GC

Form No

P13-RD-05-Rev01

Issue Date

22-03-2023

Draw By

Approved
By / Date

Description

Assembly Instructions

Revision

BED 1.0

Checked
By

Sheet

BED HARDWARE
A| ® STEEL NUT M6 x 10mm 16
B | o JCBCSCREW M6 x 50mm 16
C| & WOODDOWEL M6 x 25mm 12
D | ¢ WOOD DOWEL M8 x 50mm 4
E| @ CAMNUTI5Smm 12
F | . DOUBLE END BOLT 6 oG
G| S PVCNAILS5/8" 12
H| & WIRE CAP35mm 1 DRAWER HARDWARE
I | ¢ CSK SCREW M4 x 65mm 6||C| & WOODDOWEL M6 x25mm 8
J | ¥ CSKSCREW M4 x 38mm 22(|E| & CAMNUT I5mm 10
K| ¢ CSKSCREW M3.5x 16mm 18| 7 | ¥ CSKSCREW M4 x 38mm 22
L | &~ ALLENKEY 1 [| K| ¢ CSKSCREW M3.5x 16mm 16
M| @ SLATBRACKET HC 021 2[|Q| ¢ CAMBOLT 10
N | @ M6x20mmGLIDER 3||R @ NYLON CASTOR 40 - STOP 8
O | 9@ USA SOCKET 1
P | ¢ JCBC SCREW M6 x 25mm 4




/04

02

Sheet

NG

YN

YNNG

Bk
2|2
A |9
o
o
(=3
o
e
MI
| 8
Q| =
@)
@)
z
) w
(] =}
A I =
— | =] ©
Mkwm
° 2
S|v| s
a2l =
o |82
@5
zl2] 8
Ala]| <
2 | ©
S|z].
=]
= | E
(=]
=







14




	AI - DN BED 366 741-2DW-GC pg.1
	Sheets and Views
	Model


	AI - DN BED 366 741-2DW-GC pg.2
	Sheets and Views
	Model


	AI - DN BED 366 741-2DW-GC pg.3
	Sheets and Views
	Model


	AI - DN BED 366 741-2DW-GC pg.4
	Sheets and Views
	Model



